

## DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

BID OPENING: September 25, 2024 PRICE OPENING: October 15, 2024 AGENT: Danielle Swearingen

INVITATION TO BID NO.: 24-101688

					WILLIAMS FIRE APPARATUS		TEN8		FIRELINE		TIRE AND
Item No.	Equipment	Estimated Quantity	Unit	Unit Price	Total Amount	Unit Price	Total Amount	Unit Price	Total Amount	Unit Price	Total Amount
1	3M Goggle Gear Lens: Anti-Fog, ANSI Dust/Splash Rating d3/d4, Indirect, Gray, Universal Eyewear Size Item 48TK90 Item GG501SGAF or comparable- Aerial Equipment	20	Each	\$51.00	\$1,020.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
2	3M Pro-Grade Earmuff - Item: 90565- 4DC- PS or Comparable Aerial Equipment	20	Each	\$47.00	\$940.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
3	Amerex 20 lb ABC Fire Extinguisher Item AMX-A411 or comparable for Aerial & Engine equipment	17	Each	\$136.00	\$2,312.00	\$148.51	\$2,524.67	\$220.00	\$3,740.00	\$193.00	\$3,281.00
4	Amerex B240 2.5 Gallon Water Pressure Fire Extinguisher - Model 240 Item B240/240 No Substitution - Engine Equipment	12	Each	\$127.00	\$1,524.00	\$140.34	\$1,684.08	\$220.00	\$2,640.00	\$183.00	\$2,196.00
5	Bell Brand 5-3/4 in Base; Drinks Self- Adjusting cup holder Item 22-1-000518 or Comparable- Engine Equipment	60	Each	\$5.99	\$359.40	No Bid	No Bid	No Bid	No Bid	\$10.00	\$600.00
6	Brooks Equipment Handwheel (for Giacomini 2 1/2 valve Diameter 4" Center 1/2"X1/2" Item BK-GHW15 No Substitution- Engine Equipment	12	Each	\$55.50	\$666.00	No Bid	No Bid	No Bid	No Bid	\$60.00	\$720.00
7	Bucket Outlet Wash Tubs, Galvanized, Square, 20 ½' top diameter Height 11 1/8" Top Width 20 1/2" Bottom Width 17" Hot- Dipped Spangled Metal Finish -Item C6231252 - Or comparable - Aerial Equipment	20	Each	\$43.00	\$860.00	No Bid	No Bid	No Bid	No Bid	\$65.00	\$1,300.00
8	Bullard QXTPROBUNDLE (Advanced) includes retractable lanyard, upgraded resolution, Truck Charger, temperature readout, Super Red-Hot Colorization, 5- year warranty that covers imager and battery, DVR, Snapshot and on-screen display. No Substitution Aerial & Engine Equipment	17	Each	\$6,999.99	\$118,999.83	No Bid	No Bid	No Bid	No Bid	\$7,759.00	\$131,903.00
9	Channellock High Leverage Lineman Pliers Length 7.25" -Item 367 No Substitution - Aerial Equipment	5	Each	\$39.00	\$195.00	No Bid	No Bid	No Bid	No Bid	\$50.00	\$250.00
10	Channellock Tongue and Grove Slip Joint Pliers Length 16.5" - Item 460 No Substitution - Aerial Equipment	5	Each	\$42.00	\$210.00	No Bid	No Bid	No Bid	No Bid	\$45.00	\$225.00
11	Channellock Tongue and Grove Slip Joint Pliers Length 6"-tem 426 No Substitution- Aerial Equipment	5	Each	\$20.00	\$100.00	No Bid	No Bid	No Bid	No Bid	\$19.00	\$95.00
12	Channellock; - 10 inch Tongue and Grove Pliers Item 430 No Substitution Aerial	5	Each	\$25.00	\$125.00	No Bid	No Bid	No Bid	No Bid	\$22.00	\$110.00
13	Equipment Council TD30 30" Halligan Style Forcible Entry Tool, Single Piece Forged Steel - Item	22	Each	\$205.00	\$4,510.00	\$189.87	\$4,177.14	\$245.00	\$5,390.00	\$235.00	\$51.70
14	HAL1P30 No Substitution - Aerial & Engine Equipment Council Tools Fire Rakes with (4) 3 ¼" teeth and ash handle Item LW12-60 Or	24	Each	\$56.00	\$1,344.00	\$48.75	\$1,170.00	\$63.00	\$1,512.00	\$58.00	\$13.92
15	Comparable- Engine Equipment Council Tools Forcible Entry 6 lb Flathead Fire Axe with 34.5 Inches - Item FE6-FG No	27	Each	\$68.00	\$1,836.00	\$189.87	\$5,126.49	\$139.00	\$3,753.00	\$78.00	\$2,106.00
16	Substitution - Aerial & Engine Equipment Craftsman Husky 290 Piece Mechanics Tool Set Item H-290MTS or Comparable -	12	Set	\$255.00	\$3,060.00	\$48.75	\$585.00	No Bid	No Bid	\$279.00	\$3,348.00
17	Engine Equipment Crescent 12 Inch Adjustable Wrench Model 90130 -Comparable - Aerial & Engine	17	Each	\$24.89	\$423.13	No Bid	No Bid	No Bid	No Bid	\$25.00	\$425.00
18	Equipment Crescent Chrome Adjustable Wrench Head Type Single Open End, Material Steel, Max. Opening 1.125" Length 8" Item AC28VS Or Comparable- Aerial Equipment	5	Each	\$16.00	\$80.00	No Bid	No Bid	No Bid	No Bid	\$16.00	\$80.00
19	AC239 Or Comparative Aerial Equipment  Crescent Chrome Adjustable Wrench Head Type Single Open End, Material Steel, Max.  Opening 1.3125" Length 10" Item  AC210VS Or Comparable - Aerial Equipment	5	Each	\$20.89	\$104.45	No Bid	No Bid	No Bid	No Bid	\$21.00	\$105.00
20	Cresent HK Porter 30" Industrial Grade, Center-Cut Cutter Item 0290MC or comparable Aerial & Engine Equipment	17	Each	\$80.00	\$1,360.00	No Bid	No Bid	No Bid	No Bid	\$146.00	\$2,482.00
21	Desert Diamond Industries Roof-Max Blades 12 Tooth Carbide Roof Ventilation Blade 14", .125 Thick, 1" Arbor Item 60114A12MN No Substitution - Aerial & Engine Equipment	22	Kit	\$112.00	\$2,464.00	No Bid	No Bid	No Bid	No Bid	\$89.00	\$1,958.00
	DEWALT 36" Wrecking Bar Pointed Beveled Ends, 6.5 Lbs Item DWHT55131 Or Comparable - Aerial & Engine Equipment	17	Each	\$22.50	\$382.50	No Bid	No Bid	No Bid	No Bid	\$24.00	\$408.00
23	Duo Safety Double-End Aluminum Roof Ladders Size 14 Feet 18.5" Wide - Item 775- DR - No Substitution Engine Equipment	12	Each	\$678.00	\$8,136.00	No Bid	No Bid	\$623.00	\$7,476.00	No Bid	No Bid
24	Duo-Safety Aluminum 2-Section Ladder Double-ended Size 24 Feet a custom with 12"  Item 900-A - No Substitution — Engine Equipment	12	Each	\$1,075.00	\$12,900.00	No Bid	No Bid	\$989.00	\$11,868.00	No Bid	No Bid
25	Duo-Safety Aluminum Folding Ladder 200 Lb Duty Rated, Size 10 Feet Item 585-A - Aluminum - No Substitution – Engine Equipment	20	Each	\$362.00	\$7,240.00	No Bid	No Bid	\$333.00	\$6,660.00	No Bid	No Bid
26	Elkhart Brass Double swivel female Hose to Hose adapter Inlet and Outlet 1.5 NHT Item F-327A or comparable – Engine Equipment	12	Each	\$130.00	\$1,560.00	\$57.06	\$684.72	\$150.00	\$1,800.00	No Bid	No Bid
27	Elkhart Brass 2.5" Female Swivel Inlet X 2.5" Male Outlet, Gate Style Valve Function, Rated to 300 psi (21 Bar), Lightweight Aluminum, Finish Red Urethane Enamel with Hard Anodized Trim -	24	Each	\$506.33	\$12,151.92	\$484.77	\$11,634.48	\$536.00	\$12,864.00	No Bid	No Bid
	- Model X86A Gate Valve No Substitution - Engine Equipment Elkhart Brass BG-104-A Elk-O-Lite Water Thief with Gauge, 2.5FNH Inlet, (2)1.5MNH & (1)2.5°MNH Outlets, 03728201 - or comparable - Engine Equipment	12	Each	\$1,518.99	\$18,227.88	\$1,454.31	\$17,451.72	\$1,607.00	\$19,284.00	No Bid	No Bid
	Elkhart Brass Chief XD Tip Waterway 1 3/8" Stem 250 GPM @ 50 psi Inlet 1.5" FNH Bumper YELLOW Teeth SPINNING Item 04XD025F-0501030A No Substitution- Engine Equipment	12	Each	\$591.38	\$7,096.56	\$566.20	\$6,794.40	\$625.00	\$7,500.00	No Bid	No Bid
	Elkhart Brass Clappered Siamese with 2 1/2" Female to 5" Storz -Model 4/4A Item 00164401 -No Substitution – Engine Equipment	12	Each	\$691.74	\$8,300.88	\$662.29	\$7,947.48	No Bid	No Bid	No Bid	No Bid
31	Elkhart Brass Custom Designed Standpipe Bag Kit Standpipe Bag Includes: 2-1/2" Pressure Gauge, Elbow Gate Valve, Two Spanner Wrenches, 1-1/2" Female NH x2- 1/2" Male NH Increaser, 1-1/2" Female NPH x 2-1/2" Male NH Increaser Item KIT- 80035001 No Substitution - Engine Equipment	12	Kit	\$1,297.86	\$15,574.32	\$1,242.60	\$14,911.20	\$1,375.00	\$16,500.00	No Bid	No Bid
32	SOUSSOUT NO SUBSTITUTION - Engine Education - Engine Education - Engine Education - Elikhart Brass Double swivel female Education - Engine Education - Engine Equipment  NHT Rocker S Aluminum Item F-327A - No Substitution - Engine Equipment	24	Each	\$137.99	\$3,311.76	\$81.53	\$1,956.72	No Bid	No Bid	No Bid	No Bid
33	REVISED - Elkhart Brass Double swivel Male Hose to Hose adapter Inlet & Outlet 1.5" NHT Item M-327A or comparable - Engine Equipment	12	Each	\$69.00	\$828.00	\$21.51	\$258.12	No Bid	No Bid	No Bid	No Bid
34	Elkhart Brass Double swivel Male Hose to Hose adapter Inlet & Outlet 2.5" NHT Item M- 327A No Substitution - Engine Equipment	24	Each	\$69.00	\$1,656.00	\$36.82	\$883.68	No Bid	No Bid	No Bid	No Bid
	Elkhart Brass Gate Valve 2.5 "Female Swivel Inlet X 2.5" Male Outlet, Gate Style Valve Function, Rated to 300 psi (21 Bar) Lightweight Aluminum, Finish Red Urethane Enamel with Hard Anodized Trim Item X-86A - or comparable - Engine Equipment	12	Each	\$506.33	\$6,075.96	\$484.77	\$5,817.24	\$536.00	\$6,432.00	No Bid	No Bid
36	Elkhart Brass Gated Wye Includes (1) 2.5" Female Swivel Inlet x (2) 1.5" Male Outlet, Finish RED Urethane Enamel with Hard Anodized Trim Item B-100A No Substitution- Engine Equipment Elkhart Brass Handline Nozzle Chief XD Tip Mid-Range tip Base 1.5 FNH, GPM 175,	12	Each	\$314.12	\$3,769.44	\$300.74	\$3,608.88	\$335.00	\$4,020.00	No Bid	No Bid
	Elkhart Brass Handline Nozzle Chief XD 11p Mid-Range tip Base 1.5 F.N.H., GPM 1/5, PSI 50, ORANGE, GREEN, WHITE Tip Item 04XD0172 - No Substitution - Engine Equipment Elkhart Brass Hi-Rise Drain Elbow Model	36	Each	\$478.55	\$17,227.80	\$458.17	\$16,494.12	\$507.00	\$18,252.00	No Bid	No Bid
39	105A Item 105A No Substitution - Engine Equipment Elkhart Brass Hose Thread to Pipe Thread Color Chrome Inlet 3" NPT Female to Outlet	12	Each	\$272.73	\$3,272.76	\$261.11	\$3,133.32	\$288.00	\$3,456.00	No Bid	No Bid
	Elkhart Brass Hose I fread to Pipe Inread Color Chrome Inlet 3" NP1 Female to Outlet 2.5" NHT Male Nipple Model 307- Chrome or comparable – Engine Equipment  Elkhart Brass Hose to Hose Adapter Plate Reducer 2.5" Female Rigid Inlet X 1.5" Male	12	Each	\$59.98	\$719.76	No Bid	No Bid	\$165.00	\$1,980.00	No Bid	No Bid
	Outlet Rocker Lug Style Item A-327A No Substitution- Engine Equipment	48	Each	\$85.00	\$4,080.00	\$36.68	\$1,760.64	\$120.00	\$5,760.00	No Bid	No Bid

41	ENT . D. T. 158. 25834 11 1114 I. 11200007 11										1
	Elkhart Brass Increaser 1.5" to 2.5" Model 111A Item 11386007 or comparable - Engine Equipment	12	Each	\$115.67	\$1,388.04	\$114.00	\$1,368.00	\$155.00	\$1,860.00	No Bid	No Bid
42	Elkhart Brass Inlet 2.5"x 1.5" Outlet XD Shut-Off Nozzle Item 0069XD02 - No Substitution- Engine Equipment	12	Each	\$490.46	\$5,885.52	\$469.57	\$5,634.84	\$649.00	\$7,788.00	No Bid	No Bid
43	Elkhart Brass Inline Gauge Pressure Gauge 0- 200 PSI ( 2.5" Female Swivel Inlet X 2.5" Male Outlet Item 228A No Substitution - Engine Equipment	12	Each	\$347.57	\$4,170.84	\$332.77	\$3,993.24	\$459.00	\$5,508.00	No Bid	No Bid
44	Elkhart Brass Phantom XD Mid-Range 1.5" Free Swivel Inlet/1-3/8" Waterway Item 06XD040F-010505010A0 No Substitution- Mid-Range 1.5" Free Swivel Inlet/1-3/8"	12	Each	\$886.44	\$10,637.28	\$865.31	\$10,383.72	\$1,084.00	\$13,008.00	No Bid	No Bid
	Waterway - No Substitution - Engine Equipment	12	Eacn	\$880.44	\$10,037.28	\$803.31	\$10,383.72	\$1,084.00	\$13,008.00	No Bid	No Bid
45	Elkhart Brass Phantom XD Nozzle Low Range 15-60 Selectable GPM @ 100 PSI, Waterway 1", Inlet 1.0" FNH, Pistol Grip BLACK, Bale Insert BLACK, Bumper YELLOW, Teeth SPPNNING Item 06XD076F-	12	Each	\$1,052.00	\$12,624.00	\$1,017.31	\$12,207.72	\$1,084.00	\$13,008.00	No Bid	No Bid
46	01050504010 No Substitution- Engine Equipment Elkhart Brass Spanner Wrench with Holder Model 469 No Substitution – Aerial	15	Each	\$134.38	\$2,015.70	\$132.45	\$1,986.75	\$115.00	\$1,725.00	No Bid	No Bid
47	Equipment Elkhart Brass Universal 205 Inch Spanner Wrench Powder No Brackets Model T-464	72	Each	\$29.19	\$2,101.68	\$29.86	\$2,149.92	\$41.00	\$2,952.00	No Bid	No Bid
48	No Substitution- Engine Equipment Elkhart Brass Universal Spanner Wrench Model 464 No Substitution- Engine										
49	Equipment Elkhart Brass XD Handline Tip 15/16" Item	36	Each	\$57.00	\$2,052.00	\$29.86	\$1,074.96	\$41.00	\$1,476.00	No Bid	No Bid
	187-XD 15/16" No Substitution- Engine Equipment	36	Each	\$124.74	\$4,490.64	\$119.43	\$4,299.48	\$165.00	\$5,940.00	No Bid	No Bid
50	Elkhart Brass XD Mid-Range Foam Tube Expansion Tube Short - Item 03976301 No Substitution - Engine Equipment	12	Each	\$307.31	\$3,687.72	\$294.23	\$3,530.76	\$450.00	\$5,400.00	No Bid	No Bid
51	Elkhart Brass XD Play Pipe 2.5 XD - 2.5 Playpipe - Item 0034XD02 - No Substitution- Engine Equipment	12	Each	\$879.42	\$10,553.04	\$841.97	\$10,103.64	\$1,163.00	\$13,956.00	No Bid	No Bid
52	Elkhart Brass XD Shutoff Material Elk-0- Lite Item 0069XD02 No substitution - Engine Equipment	12	Each	\$490.46	\$5,885.52	\$469.57	\$5,634.84	\$648.00	\$7,776.00	No Bid	No Bid
53	Elkhart Brass XD Shutoff Description Waterway: 1 3/8" Inlet: 1.5" FNH Pistol Grip: BLACK Bale Insert: BLACK Custom Laser Etch: NO Item 0033XD01 No Substitution - Engine Equipment	72	Each	\$425.00	\$30,600.00	\$406.06	\$29,236.32	\$561.00	\$40,392.00	No Bid	No Bid
54	Elkhart Brass XD Smooth Bore Single Tip Short Barrel Inlet Thread 1.5" FNH Discharge 1 1/8" Bumper Color Black Model 187-XD Item 66759007 No Substitution - Engine Equipment	12	Each	\$124.74	\$1,496.88	\$119.42	\$1,433.04	\$165.00	\$1,980.00	No Bid	No Bid
55	Elkhart Brass XD Stacked Smooth Bore Tip Indy Stack Model ST-185-XD-IFD Item 00665007 - No Substitution- Engine Equipment	12	Each	\$285.00	\$3,420.00	\$264.91	\$3,178.92	\$366.00	\$4,392.00	No Bid	No Bid
56	Elkhart Brass, Portable Inline Foam Eductor, Painted with Brass Trim, Size 2.5" FNH X 1.5" MNH, 150 GPM Item 03972401	12	Each	\$999.98	\$11,999.76	\$682.37	\$8,188.44	\$942.00	\$11,304.00	No Bid	No Bid
57	No Substitution- Engine Equipment		-Aivii				\$0,100. <del>44</del>		\$11,504.00		. to Diu
	Emergency Pop-Up Pool Containment Pool 20 Gallon Collapsible Item A8020U or Comparable - Aerial & Engine Equipment	17	Each	\$95.00	\$1,615.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
58	Ferno Adult Najo Backboard 14.5 lbs. Item 275201102 or Comparable - Engine Equipment	24	Each	\$245.00	\$5,880.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
59	FHU (FIRE HOOKS UNLIMITED) Can Harness - Item CH-312 No Substitution - Aerial & Engine Equipment	22	Each	\$51.00	\$1,122.00	\$55.81	\$1,227.82	\$60.00	\$1,320.00	\$61.00	\$1,342.00
60	FHU Elevator Key Set - Item FHU-EKS-12 No Substitution - Engine Equipment	17	Each	\$193.00	\$3,281.00	\$216.28	\$3,676.76	\$220.00	\$3,740.00	\$239.00	\$4,063.00
61	FHU Husqvarna K970 K-12 Saw Kit Item K12PKG Blade 14" Saw Package - Item K12PKG No Substitution - Aerial & Engine Equipment	22	Kit	\$1,790.00	\$39,380.00	\$1,988.37	\$43,744.14	\$2,100.00	\$46,200.00	\$2,375.00	\$52,250.00
62	Fire Axe INC 6LB Pick Head Axe with 32" Brown Fiberglass Handle Item PHA Size 32" No Substitution - Aerial Equipment	15	Each	\$274.00	\$4,110.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
63	Fire By Trade Tools 29" Minuteman Hose Strap with Reflective Tape Heavy Duty 2" X 29" Velcro straps with Pull tab and reflective Taping for 100; 1 3/4" Minuteman Hose Bundles. No Substitution Engine Equipment	216	Each	\$14.50	\$3,132.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
64	Fire Hooks Unlimited Hydra Ram II Hydraulic Forcible Entry Tool - Model HR2 Item FHU-HR-2 No Substitution Aerial & Engine Equipment	17	Kit	\$2,300.00	\$39,100.00	\$2,582.86	\$43,908.62	\$2,700.00	\$45,900.00	\$2,920.00	\$49,640.00
65											
	Fire Hooks Tools - New York Roof Hook with chisel end Size 10 Feet Model RH-10' No	17	Each	\$141.00	\$2,397.00	\$161.43	\$2,744.31	\$170.00	\$2,890.00	\$175.00	\$2,975.00
66	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No	17	Each Each	\$141.00 \$171.00	\$2,397.00 \$855.00	\$161.43 \$192.86	\$2,744.31 \$964.30	\$170.00 \$210.00	\$2,890.00 \$1,050.00	\$175.00 \$209.00	\$2,975.00 \$1,045.00
	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution -		Each	\$171.00	\$855.00	\$192.86	\$964.30	\$210.00	\$1,050.00	\$209.00	\$1,045.00
66	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall	5 24	Each Each	\$171.00 \$119.00	\$855.00 \$2,856.00	\$192.86 \$132.56	\$964.30 \$3,181.44	\$210.00 \$140.00	\$1,050.00 \$3,360.00	\$209.00 \$147.00	\$1,045.00 \$3,528.00
66	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment	5 24 12	Each Each Each	\$171.00 \$119.00 \$70.00	\$855.00 \$2,856.00 \$840.00	\$192.86 \$132.56 \$75.58	\$964.30 \$3,181.44 \$906.96	\$210.00 \$140.00 \$85.00	\$1,050.00 \$3,360.00 \$1,020.00	\$209.00 \$147.00 \$84.00	\$1,045.00 \$3,528.00 \$1,008.00
66 67 68 69	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment	5 24 12 24	Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00	\$192.86 \$132.56 \$75.58 \$153.49	\$964.30 \$3,181.44 \$906.96 \$3,683.76	\$210.00 \$140.00 \$85.00 \$175.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00	\$209.00 \$147.00 \$84.00 \$170.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00
66 67 68 69 70	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution- Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution- Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment	5 24 12	Each Each Each	\$171.00 \$119.00 \$70.00	\$855.00 \$2,856.00 \$840.00	\$192.86 \$132.56 \$75.58	\$964.30 \$3,181.44 \$906.96	\$210.00 \$140.00 \$85.00	\$1,050.00 \$3,360.00 \$1,020.00	\$209.00 \$147.00 \$84.00	\$1,045.00 \$3,528.00 \$1,008.00
66 67 68 69 70 71	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Falon Hook Size Five Feet Item TALF-5 No Substitution- Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Substitution - Aerial & Engine Equipment	5 24 12 24	Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00	\$192.86 \$132.56 \$75.58 \$153.49	\$964.30 \$3,181.44 \$906.96 \$3,683.76	\$210.00 \$140.00 \$85.00 \$175.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00	\$209.00 \$147.00 \$84.00 \$170.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00
66 67 68 69 70 71 72	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Show Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution - Aerial & Engine Equipment	5 24 12 24 10	Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00
66 67 68 69 70 71 72	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Fialon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Fire Hooks Tools New York Roof Hook with Fire Hooks Institution Substitution - Aerial Equipment Fire Hooks Institution Substitution - Merial Equipment Fire Hooks Institution - Merial Equipment Fire Hooks Institution - Aerial Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment	5 24 12 24 10	Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00
66 67 68 69 70 71 72	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Show Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution - Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial & Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial & Engipment	5 24 12 24 10 17	Each Each Each Each Each Kit	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62
66 67 68 69 70 71 72	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Preflighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution-Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 945 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 × 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment	5 24 12 24 10 17 17	Each Each Each Each Each Kit Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 No Bid	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid
66 67 68 69 70 71 72 73	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution- Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Side Manuel Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER Pry Bar 48 in Overall Lg, 1 in Bar Wd, 1 in End Wd, T No, Straight End Angle Item 6DPV7 Item 1161400 or Comparable - Aerial & Engine Equipment	5 24 12 24 10 17 17 5 20	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$67.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid
66 67 68 69 70 71 72 73 74	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Show Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution - Aerial & Engine Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER Py Bar 48 in Overall Lg, 1 in Bar Wd, 1 in End Wd, T No, Straight End	5 24 12 24 10 17 17 5 20	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$23.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 No Bid No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 No Bid No Bid	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid
66 67 68 69 70 71 72 73 74 75 76	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Fool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution - Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Sid GRAINGER APPROVED VENDOR Tarp: Sid GRAINGER APPROVED VENDOR Tarp: Sid GRAINGER PROVED TO SUBSTITUTE OF STATE OF STAT	5 24 12 24 10 17 17 5 20 120	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$67.00 \$230.00 \$57.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$1,150.00 \$1,340.00 \$2,760.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 No Bid No Bid No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid No Bid No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 No Bid No Bid No Bid	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid
66 67 68 69 70 71 72 73 74 75 76	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution-Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution-Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 94 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 × 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 221C28 or Comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std GRAINGER Tstaple Gun: 7 3/10 in Overall Lg, For 1/4 in _5/16 in _5/18 in _1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment GRAINGER Staple Gun: 7 3/10 in Overall Lg, For 1/4 in _5/16 in _5/18 in _1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Harrington Ball valve 2.5" QST female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equipment Harrington Ball valve 2.5" QST female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equipment	5 24 12 24 10 17 17 5 20 120 17 5	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$23.00 \$57.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid No Bid No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid No Bid No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 No Bid No Bid No Bid	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid
66 67 68 69 70 71 72 73 74 75 76	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K-Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution- Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 94 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER Py Bar 48 in Overall Lg, 1 in Bar Wd, 1 in End Wd, T No, Straight End Angle Item 6DPV7 Item 1161400 or Comparable - Aerial & Engine Equipment GRAINGER Staple Gun: 7 3/10 in Overall Lg, For 1/4 in _5/16 in _3/8 in _1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Harrington Ball valve 2.5" QST Female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equipment Honda EU2000 Su	5 24 12 24 10 17 17 5 20 120 17 5 24 5	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$35.00 \$35.00 \$260.00 \$1,150.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$969.00 \$175.00 \$6,240.00 \$5,750.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid No Bid \$10,435.68 No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid No Bid No Bid No Bid \$808.00 \$2,300.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$186.00 No Bid No Bid No Bid No Bid \$578.00 \$1,312.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00
66 67 68 69 70 71 72 73 74 75 76 77	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Finefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Show Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution - Aerial & Engine Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER 36" Rhow The Substitution - State St	5 24 12 24 10 17 17 5 20 120 17 5 24 5 12	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$57.00 \$35.00 \$1,150.00 \$10.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00 \$6,240.00 \$5,750.00 \$120.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid No Bid No Bid No Bid \$808.00 \$2,300.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid No Bid No Bid No Bid \$578.00 \$1,312.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Finefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution-Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: State Of State Comparable - Aerial Equipment GRAINGER PROVED VENDOR Tarp: State Of State Comparable - Aerial Equipment GRAINGER PROVED VENDOR Tarp: State Of State Comparable - Aerial Equipment GRAINGER PROVED VENDOR Tarp: State Of State	5 24 12 24 10 17 17 5 20 120 17 5 24 5	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$35.00 \$35.00 \$260.00 \$1,150.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$969.00 \$175.00 \$6,240.00 \$5,750.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid No Bid \$10,435.68 No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid No Bid No Bid No Bid \$808.00 \$2,300.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$186.00 No Bid No Bid No Bid No Bid \$578.00 \$1,312.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall I tem FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 94 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER Staple Gun: 7 3/10 in Overall Lg, For 1/4 in _5/16 in _3/8 in _1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Hearington Ball valve 2.5" QST Female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equipment Honda EU2000i Super Quiet Series Portable Generator Item EU2000i - No Substitution Aerial Equ	5 24 12 24 10 17 17 5 20 120 17 5 24 5 12	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$57.00 \$35.00 \$1,150.00 \$10.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00 \$6,240.00 \$5,750.00 \$120.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid No Bid No Bid No Bid \$808.00 \$2,300.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid No Bid No Bid No Bid \$578.00 \$1,312.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79 80 81	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12'No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution- Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 40L288 Item 94 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in 5 ft 6 in Finished Size, Blue Item 221C28 or Comparable - Aerial Equipment GRAINGER PYB Bar 48 in Overall Lg, 1 in Bar Wd, 1 in End Wd, T No, Straight End Angle Item 6DPV7 Item 1161400 or Comparable - Aerial & Engine Equipment GRAINGER Staple Gun: 7 3/10 in Overall Lg, 5ro 1/4 in _5/16 in _3/8 in _1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Harrington Ball valve 2.5" QST female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equipment Honda EU20000 Super Quiet Series Portable Generator Item EU2000i - No Substitution Aerial Equipment Honda EU20000 Super Quiet Series	5 24 12 24 10 17 17 5 20 120 17 5 12 12 12	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$57.00 \$35.00 \$35.00 \$1,150.00 \$1,700.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$969.00 \$175.00 \$56,240.00 \$5750.00 \$120.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid No Bid No Bid No Bid \$10,435.68 No Bid No Bid \$10,435.68	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$125.00 No Bid No Bid No Bid No Bid \$808.00 \$2,300.00 \$2,800.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00 \$360.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$186.00 No Bid No Bid No Bid No Bid \$578.00 \$1,312.00 \$2,100.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00 \$156.00 \$25,200.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79 80 81	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Falon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 94 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER Py Bar 48 in Overall Lg, 1 in Bar Wd, 1 in End Wd, T No, Straight End Angle Item 6DPV7 Item 1161400 or Comparable - Aerial & Engine Equipment GRAINGER Staple Gun: 7 3/10 in Overall Lg, For 1/4 in 5/16 in 3/8 in 1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Hearington Ball valve 2.5" QST Female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution Aerial Equipm	5 24 12 24 10 17 5 20 120 17 5 12 12 10 10	Each Each Each Each Each Each Kit Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$120.00 \$143.00 \$230.00 \$57.00 \$23.00 \$57.00 \$35.00 \$1,150.00 \$1,700.00 \$240.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00 \$175.00 \$120.00 \$2,400.00 \$2,400.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid No Bid No Bid \$434.82 No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid No Bid No Bid No Bid S10,435.68 No Bid No Bid No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$146.00 \$125.00 No Bid No Bid No Bid \$808.00 \$2,300.00 \$30.00	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00 \$360.00 \$1,250.00	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid No Bid No Bid No Bid \$578.00 \$1,312.00 \$2,100.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00 \$156.00 \$25,200.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79 80 81	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Py End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K-Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution- Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial Equipment GRAINGER 30" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft. Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER PPROVED VENDOR Tarp: Std Duty, 12 x 16 ft. Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 22JC28 or Comparable - Aerial Equipment GRAINGER Py Bar 48 in Overall Lg, For 1/4 in 5/16 in 3/8 in 1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Harrington Ball valve 2.5" QST female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equ	5 24 12 24 10 17 17 5 20 120 17 5 12 12 10 17 17	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$57.00 \$35.00 \$1,150.00 \$1,150.00 \$1,700.00 \$240.00 \$1,400.00 \$1,400.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00 \$120.00 \$2,440.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,800.00 \$23,800.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid \$434.82 No Bid No Bid \$434.82 No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid No Bid \$10,435.68 No Bid No Bid \$30,442.68 No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$125.00 No Bid No Bid No Bid \$808.00 \$2,300.00 \$2,800.00 \$125.00 No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00 \$360.00 \$1,250.00 No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid No Bid No Bid \$578.00 \$1,312.00 \$2,100.00 \$2285.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00 \$156.00 \$25,200.00 \$22,916.00 \$2,580.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79 80 81 82 83	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12'No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Showe Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution-Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial & Engine Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 954 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Side Model Reproved Floor Squeegee GRAINGER APPROVED VENDOR Tarp: Side Model Reproved Floor Squeege GRAINGER PROVED VENDOR Tarp: Side Model Reproved Floor Squeege GRAINGER Proved Tool Reproved Floor Squeege Grapher Chain Graphent GRAINGER Staple Grun: 7 3/10 in Overall Lg, For 1/4 in End Wd, TNo, Straight End Angle Item 6DPV7 Item 1161400 or Comparable - Aerial & Engine Equipment Harrington Ball valve 2.5" QST female s	5 24 12 24 10 17 5 20 120 17 5 12 12 12 12 12	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$120.00 \$143.00 \$230.00 \$57.00 \$23.00 \$57.00 \$35.00 \$1150.00 \$11,700.00 \$1,400.00 \$1,400.00 \$1,400.00 \$185.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00 \$120.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,20.00 \$2,20.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid \$434.82 No Bid No Bid No Bid No Bid No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$125.00 No Bid No Bid No Bid \$808.00 \$2,300.00 \$30.00 \$125.00 No Bid No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid \$19,392.00 \$11,500.00 \$360.00 \$1,250.00 No Bid No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid No Bid No Bid \$578.00 \$1,312.00 \$2,100.00 \$2,100.00 \$215.00 \$215.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00 \$156.00 \$25,200.00 \$2,850.00 \$2,916.00
66 67 68 69 70 71 72 73 74 75 76 77 78 79 80 81 82 83 84	Substitution - Aerial & Engine Equipment Fire Hooks Tools - New York Roof Hook with chisel end Size 12 Feet Model RH-12' No Substitution - Aerial Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Dry-Wall Hook Chisel Tip Size 6' Item DWHS-6 No Substitution - Engine Equipment Fire Hooks Tools Firefighter Pick Head Axe, Six Lbs. Fiberglass Handle 32" Overall Item FAP-6 No Substitution - Engine Equipment Fire Hooks Tools Talon Hook Size Five Feet Item TALF-5 No Substitution - Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 6 Feet Model RH-6' No Substitution - Aerial Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Tools New York Roof Hook with Pry End Size 8 Feet Model RH-8' No Substitution - Aerial & Engine Equipment Fire Hooks Unlimited K-Tool Kit Includes K- Tool, Leather Pouch, 2 Lock Tool Keys, Show Knife, Instructions on through the lock methods Model KTK Item FHU- KTOOLKIT No Substitution- Aerial & Engine Equipment Fire Maul TSR Size 28" Required Grip Color Black Item TSR-FIRE-MAUL No Substitution - Aerial & Engine Equipment GRAINGER 36" With Curved Rubber Floor Squeegee With Handle, Black Item 46U288 Item 94 or comparable - Aerial Equipment GRAINGER APPROVED VENDOR Tarp: Std Duty, 12 x 16 ft Cut Size, 11 ft 4 in x 15 ft 6 in Finished Size, Blue Item 221C28 or Comparable - Aerial Equipment GRAINGER Py Bar 48 in Overall Lg, 1 in Bar Wd, 1 in End Wd, T No, Straight End Angle Item 6DPV7 Item 1161400 or Comparable - Aerial & Engine Equipment GRAINGER Staple Gun: 7 3/10 in Overall Lg, For 1/4 in _5/16 in _3/8 in _1/2 in Staple Leg Lg, Straight Drive - Aerial Equipment Item 31CNG3 Item DWHTTR130LH or comparable Aerial Equipment Harrington Ball valve 2.5" OST female swivel inlet x 5" Storz outlet (hydrant ball valve) - Item HHBV-50-25QST No Substitution - Engine Equipment Harrington Ball valve 2.5" OST female swivel inlet x 5" Stor	5 24 12 24 10 17 5 20 120 17 5 12 12 10 17 17 17 17 17 17 17 17 17 17 17 17 17	Each Each Each Each Each Each Each Each	\$171.00 \$119.00 \$70.00 \$138.00 \$112.00 \$120.00 \$120.00 \$143.00 \$230.00 \$67.00 \$23.00 \$57.00 \$35.00 \$1,150.00 \$1,150.00 \$1,700.00 \$240.00 \$1,400.00 \$1,400.00	\$855.00 \$2,856.00 \$840.00 \$3,312.00 \$1,120.00 \$2,040.00 \$2,431.00 \$1,150.00 \$1,340.00 \$2,760.00 \$175.00 \$120.00 \$2,440.00 \$2,400.00 \$2,400.00 \$2,400.00 \$2,800.00 \$23,800.00	\$192.86 \$132.56 \$75.58 \$153.49 \$127.06 \$136.94 \$162.35 No Bid No Bid No Bid No Bid \$434.82 No Bid No Bid \$434.82 No Bid No Bid No Bid	\$964.30 \$3,181.44 \$906.96 \$3,683.76 \$1,270.60 \$2,327.98 \$2,759.95 No Bid No Bid No Bid No Bid \$10,435.68 No Bid No Bid \$30,442.68 No Bid No Bid	\$210.00 \$140.00 \$85.00 \$175.00 \$138.00 \$125.00 No Bid No Bid No Bid \$808.00 \$2,300.00 \$2,800.00 \$125.00 No Bid	\$1,050.00 \$3,360.00 \$1,020.00 \$4,200.00 \$4,200.00 \$1,380.00 \$2,482.00 \$2,975.00 No Bid No Bid No Bid No Bid \$19,392.00 \$11,500.00 \$360.00 \$1,250.00 No Bid	\$209.00 \$147.00 \$84.00 \$170.00 \$139.00 \$150.00 \$186.00 No Bid No Bid No Bid \$578.00 \$1,312.00 \$2,100.00 \$2285.00	\$1,045.00 \$3,528.00 \$1,008.00 \$4,080.00 \$1,390.00 \$2,550.00 \$31.62 No Bid No Bid No Bid No Bid \$13,872.00 \$6,560.00 \$156.00 \$25,200.00 \$22,916.00 \$2,580.00

No.   Control   Process												
Part	88	Kendrick Extrication Device with Straps Model KED125 Item 0313676 No Substitution - Engine Equipment	12	Each	\$210.00	\$2,520.00	No Bid	No Bid	No Bid	No Bid	\$91.00	\$1,092.00
10   10   10   10   10   10   10   10	89	Key 1.75 Big-10 FDNY Hose 1.75 X50' Item DP17-800-RED No Substitution - Engine	36	Each	\$194.51	\$7,002.36	\$179.26	\$6,453.36	No Bid	No Bid	No Bid	No Bid
	90	Key 1.75 Combat Ready 1.75"X 50' Color BLUE Item DP17-1000-BLUE-1.75"-50'	48	Fach	\$302.14	\$14 502 72	\$281.53	\$13 513 44	No Bid	No Bid	No Bid	No Bid
Part	91					· · · · · · · · · · · · · · · · · · ·						
Section   Sect		No Substitution - Engine Equipment	72	Each	\$302.14	\$21,754.08	\$281.53	\$20,270.16	No Bid	No Bid	No Bid	No Bid
Committee   Comm	92		48	Each	\$302.14	\$14,502.72	\$281.53	\$13,513.44	No Bid	No Bid	No Bid	No Bid
Committee   Comm	03	Key 1.75 Combat Ready 1.75''Y 50' Color WHITE Item DP17-1000 WHITE-1.75"-50'										
Policy   March   Mar		No Substitution - Engine Equipment	144	Each	\$302.14	\$43,508.16	\$281.53	\$40,540.32	No Bid	No Bid	No Bid	No Bid
Part	94		24	Each	\$177.72	\$4,265.28	\$202.56	\$4,861.44	No Bid	No Bid	No Bid	No Bid
No.   Proceed   Proceding   Proceding   Proceding   Proceed   Proceed   Proceed   Proceed   Proceed   Pr	0.5	Equipment										
Property		YELLOW No Substitution - Engine Equipment	24	Each	\$72.46	\$1,739.04	\$78.13	\$1,875.12	No Bid	No Bid	No Bid	No Bid
Pool	96		24	Each	\$105.79	\$2,538.96	\$119.60	\$2,870.40	No Bid	No Bid	No Bid	No Bid
	97	Key 1" Hose-1" X 6' Item SP10-600 Type 2- Yellow Model ECO-5 Item SP10-600-	24	Each	\$44.11	\$1,058.64	\$46.60	\$1,118.40	No Bid	No Bid	No Bid	No Bid
	98		06	Earle	\$275.12		\$250.04	\$24.554.24	No Did	No Did	No Did	No Did
Marchanic Tages Teginimum   No. 1968   No.	90	Substitution - Engine Equipment  Key 2.5 Inch Combat Ready Hose 2.5" Y50' - Green Item DP25-1000-GREEN No.		Eacn		· ·						
Part		Substitution - Engine Equipment	36	Each	\$375.12	\$13,504.32	\$359.94	\$12,957.84	No Bid	No Bid	No Bid	No Bid
10	100		24	Each	\$224.27	\$5,382.48	\$211.42	\$5,074.08	No Bid	No Bid	No Bid	No Bid
Page   Teachement   Page   Teachement   Page   Pa	101	- Item DP30-800-ECO-RED No Substitution Engine Equipment										
Configuration of man Disclored Configuration of Management (Configuration of Management (Conf	101		144	Each	\$284.29	\$40,937.76	\$279.83	\$40,295.52	No Bid	No Bid	No Bid	No Bid
100	102		10	Each	\$672.53	\$6,725,30	\$665.91	\$6.659.10	No Bid	No Bid	No Bid	No Bid
Section   Proceedings   Procedings   Proceedings   Procedings   Proceedings   Procedings   Proceedings   Proceedings   Proceedings   Proceed	102					,		,				
10   10   10   10   10   10   10   10		Storz - Item RC50-450-YELLOW -No Substitution - Engine Equipment	144	Each	\$813.95	\$117,208.80	\$792.05	\$114,055.20	No Bid	No Bid	No Bid	No Bid
105   Carbon S. Way, Mandel A. P. Way, Carbon C. Way, Carbon S. Bin M. 120005 S. Engine Equipment   1.00	104	Key Rubber Fire Hose, Pro-Flow 5.0" X 30' 5" Storz Color RED Item RC50-450-RED	24	Each	\$546.43	\$13,114.32	\$539.20	\$12,940.80	No Bid	No Bid	No Bid	No Bid
	105	Kocheck 3 Way Manifold-5" Storz Outlet,	12	Each	\$1,590.00	\$19.080.00	\$1,683.99	\$20,207.88	\$1,200.00	\$14,400.00	No Bid	No Bid
Secretary   Secr	106											
Second Company Second England Company (1997)   Second Company (1997)   Secon		NHT Item 37R151-H No Substitution – Engine Equipment		Each		ļ						
Substitution	107		12	Each	\$35.00	\$420.00	\$19.06	\$228.72	\$22.00	\$264.00	No Bid	No Bid
	108		72	Each	\$120.00	\$8,640.00	\$116.78	\$8,408.16	\$108.00	\$7,776.00	No Bid	No Bid
10   MACRETIZEN Tarp Heapy Days, 3 at 201 4 at 100 Kars, 3 at 16 Finished Size, 20   120   Each   \$12,000   \$14,000.00   No Bid   No Bid   No Bid   No Bid   No Bid   \$10,000	109	Laerdal Compact Suction Unit LCSU 4 (800ml) RTCA Certified Item 880052-XX No	12	Kit	\$900.00	\$10,800.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
mil Thack, Red Itom 48/WH Itom SALE-00: 0818- Or   120   Each   512000   514,400,000   No Bid   No B	110				******	,						
11   Mirwacket UP Trouge Les Straight Lew Locking Plans Hum 48-22-5310 or composed. Engine Tenging Enginement (12)   Each   S24.00   S28.80   No. Bid   No		mil Thick, Red Item 48NW44 Item SALR-02- 0318 - Or	120	Each	\$120.00	\$14,400.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
String	111	Milwaukee 10" Torque Lock Straight Jaw Locking Pliers Item 48-22-3510 or	12	Fach	\$16.00	\$192.00	No Bid	No Bid	No Bid	No Bid	\$45.00	\$540.00
1	112											
Engine Enginement   1.1   Missuakes SuperVac Conversion Kit includes Makins INV X2 (GV) LXT Bounbless   Chainson Explore Vaccines of Confessor Explore (Confessor Explore Confessor State of Confessor Explore Confessor State (Confessor Explore Confessor State of Plan 97) Fig.   Section 11		Item 48-22-0050 or Comparable - Engine Equipment	12	Each	\$24.00	\$288.00	No Bid	No Bid	No Bid	No Bid	\$49.00	\$588.00
Chainsone Dow'd in Prevoid Coeffoot Coeffoot Chainsone Millwards Mills Park Coeffoot Chainsone Ecology W. Cellulos. State 10 feb. 987/9316 by Chainsone Ecology W. Cellulos. State 10 feb. 987/9316 by Chainsone Ecology W. Cellulos. State 10 feb. 987/9316 by Chainsone Ecology W. Cellulos. State 11 feb. 987/9316 by Chainsone Ecology W. Cellulos. State 11 feb. 987/9316 by Chainsone Coeffoot Res. State 11 feb. 987/9316 by Chainsone Ecology W. Cellulo	113		12	Kit	\$620.00	\$7,440.00	No Bid	No Bid	No Bid	No Bid	\$358.00	\$4,296.00
Chainsow Echo SNV Cordinacy Conglete Kit Size 16* Tuens SY789-10 No.   Substitution - Arrial & Engine Equipment	114											
15   Nonin Pulse Oximeter Model S000 and Case Imm of 7-8509-LCN Substitution		Chainsaw Echo 58V Cordless Chainsaw Complete Kit Size 16" Item SV789-16 No	17	Kit	\$455.00	\$7,735.00	No Bid	No Bid	\$465.00	\$7,905.00	\$625.00	\$10,625.00
Regine Equipment   1-	115		12	77.	6010.00	610.020.00	N. D.I	N. D. I	N. Dil	N. D. I	N. D.I	N. D.I
Rajingtenest   17   Najla Classic Nipslaghas Roof Hooks Alaminium D-Handle, Length 6F Hem 75.36-   10   Each   5168.00   \$1,680.00   \$1,680.00   \$1,680.00   \$1,600.00   \$1,600.00   \$0,80 lid   \$160.00   \$1,60	116	Engine Equipment			\$910.00	\$10,920.00	No Bid	No Bid	No Bid	No Bid	No Bid	No Bid
Sel No Substitution Aerial Equipment   10   Each   S16500   S1,68000   S1,68000   S1,08000   S1,00000   S1,000000   S1,00000   S1,000000   S1,0000000   S1,0000000   S1,0000000   S1,0000000   S1,0000000   S1,00000000   S1,0000000000   S1,000000000000000000000000000000000000		Equipment	17	Kit	\$116.50	\$1,980.50	\$137.45	\$2,336.65	No Bid	No Bid	No Bid	No Bid
Palican Protector Case Color Omage - Model   120 ltm   120-00-110 No Substitution - Aerial Equipment   17   Each   \$54.00   \$270.00   \$43.49   \$217.45   \$118.00   \$49.245.00   \$58.00   \$290.00   \$198.88   \$32.10.96   \$175.00   \$2.975.00   \$450.00   \$7,650.	117		10	Each	\$168.00	\$1,680.00	No Bid	No Bid	\$160.00	\$1,600.00	No Bid	No Bid
Pelican Protector Case YELLOW Item 1550 EMS to include £1d Organizer and Divider   17	118	Pelican Protector Case Color Orange - Model 1120 Item 1120-000-110 No	5	Each	\$54.00	\$270.00	\$43.49	\$217.45	\$118.00	\$49,245.00	\$58.00	\$290.00
See   Inc.   1555PMS   No Substitution   Engine Equipment   5   Each   S66.99   \$284.95   \$35.26   \$176.30   No Bid   No Bid   \$38.00   \$190.00	119	Substitution - Aerial Equipment Pelican Protector Case YELLOW Item 1550 EMS to include Lid Organizer and Divider	17	Engh	\$170.00	62 800 00	¢100 00	\$2.210.06	\$175.00	\$2.075.00	\$450.00	\$7,650,00
L071AA01 No Substitution - Aerial Equipment   3   Each   \$55.99   \$2,88,95   \$35.26   \$17.6.30   \$8.18   \$35.00   \$350.00	120	Set Item 1555EMS - No Substitution Engine Equipment										
disclosed later No Substitution. Pagine Equipment   12   Each   \$415.00   \$49,90.00   \$30,81.8   \$5,098.16   \$5,20.00   \$32,20.0   \$3,20.00   \$32,20.0   \$3,20.00   \$32,20.0   \$3,20.00   \$32,20.0   \$3,20.00   \$32,20.0   \$3,20.00   \$32,20.0   \$3,20.00   \$32,20.0   \$3,20.00   \$34,80.0		L071AA01 No Substitution – Aerial Equipment	5	Each	\$56.99	\$284.95	\$35.26	\$176.30	No Bid	No Bid	\$38.00	\$190.00
122   R&R Fabrications LARGE WEDGE YELLOW Item SAC-DW-YL - No Substitution - Engine Equipment   17   Each   \$8.75   \$420.00   \$10.71   \$514.08   \$10.00   \$480.00   \$8.00   \$38.00   \$348.00   \$12.24   \$10.05   Pige Wrench Item 632 - 47057 No Substitution - Engine Equipment   17   Each   \$65.00   \$1,105.00   No Bid   No Bid   No Bid   No Bid   No Bid   No Bid   \$125.00   \$2,125.00   \$12.24   \$10.05   Pige Wrench Aluminum Model   \$12.24   Item 31105 Or Comparable - Aerial & Engine Equipment   5   Each   \$18.00   \$90.00   No Bid   \$134.00   \$55,494.00   \$12.24   Item 31105 Or Comparable - Aerial & Engine Equipment   5   Each   \$18.00   \$90.00   No Bid	121	disclosed later) No Substitution- Engine Equipment	12	Each	\$415.00	\$4,980.00	\$308.18	\$3,698.16	\$350.00	\$4,200.00	\$325.00	\$3,900.00
123   Ridgid 12 Inch Pipe Wrench Item 632- 47057 No Substitution - Engine Equipment   17   Each   \$65.00   \$1,105.00   No Bid   No Bid   No Bid   No Bid   \$125.00   \$2,125.00     124   Ridgid 24 Inch Pipe Wrench Aluminum Model   \$12.50   \$12.500   \$12.600   \$5,166.00   No Bid   No Bid   No Bid   No Bid   \$134.00   \$55,494.00     125   Rigid Rubber Mallet #1002457250 Item F17007 or comparable - Aerial Equipment   5   Each   \$18.00   \$90.00   No Bid   \$134.00   \$55,494.00     126   Stearns Work Master Vest Class III-V Universal Size 30" - 52" Item 1222 - No   68   Each   \$210.00   \$14,280.00   No Bid   No Bid   No Bid   No Bid   No Bid   \$15,200   \$15,220.00     127   Steek Class Big Easy Glu with Easy Wedge Kit Item SKG-32955 - No Substitution - Aerial & Engine Equipment   17   Kit   \$59.00   \$1,003.00   \$60.00   \$1,002.00   No Bid   No Bid   No Bid   No Bid   \$132.00   \$2,244.00     128   Steamilight Fire Viction ILED Vehicle Mount System with 12V DC -Includes quick-release shoulder strap - Color ORANGE- Item 080926- 44451-5 - No Substitution - Aerial & Engine Equipment   \$150.00   \$167.74   \$14,257.90   \$187.00   \$15,895.00   \$231.00   \$19,635.00     129   Streamlight Fire Viction Aerial & Engine Equipment   \$34   Each   \$680.00   \$23,120.00   \$167.74   \$14,257.90   \$187.00   \$15,895.00   \$231.00   \$19,635.00     130   Streamlight Stream Streamlight Streamlight Stream Stream Streamlight Streamlight Streamlight Streamlight Stream	122	R&R Fabrications LARGE WEDGE YELLOW Item SAC-DW-YL - No Substitution –	48	Each	\$8.75	\$420.00	\$10.71	\$514.08	\$10.00	\$480.00	\$8.00	\$348.00
Ridgid 24 Inch Pipe Wrench Aluminum Model   812-24* Item 31105 Or Comparable - Aerial & Engine Equipment   5   Each   \$126.00   \$5,166.00   No Bid   No Bid   No Bid   \$134.00   \$5,494.00	123		17	Each	\$65.00	\$1 105 00	No Bid	No Rid	No Rid	No Rid	\$125.00	\$2 125 00
S12.24*   Item 3   1105 Or Comparable - Aerial & Engine Equipment   5   Each   518.00   S90.00   No Bid   S2,500   \$125,00	124	Ridgid 24 Inch Pipe Wrench Aluminum Model										
Steams Work Master Vest Class IIIV Universal Size 30" - 52" Item 1222 - No   Substitution Aerial & Engine Equipment   Steek Classic Big Easy GLO with Easy Wedge Kit Item SKG-32955 - No Substitution - Aerial & Engine Equipment   17   Kit   \$59.00   \$1,030.00   \$60.00   \$1,020.00   No Bid		812.24" Item 31105 Or Comparable - Aerial & Engine Equipment	41	Each	\$126.00	\$5,166.00	No Bid	No Bid	No Bid	No Bid	\$134.00	\$5,494.00
Substitution Aerial & Engine Equipment   Substitution Aerial & Engine Equipment   Steek Classic Big Easy GLO with Easy Wedge Kit Item SKG-32955 -No Substitution - Aerial & Engine Equipment   17	125	Rigid Rubber Mallet #1002457250 Item FT7007 or comparable - Aerial Equipment	5	Each	\$18.00	\$90.00	No Bid	No Bid	No Bid	No Bid	\$25.00	\$125.00
127   Steck Classic Big Easy GLO with Easy Wedge Kit Item SKG-32955 - No Substitution - Aerial & Engine Equipment   17   Kit   559.00   \$1,003.00   \$60.00   \$1,020.00   No Bid   No Bid   \$132.00   \$2,244.00	126		68	Each	\$210.00	\$14,280.00	No Bid	No Bid	No Bid	No Bid	\$240.00	\$16,320.00
Aerial & Engine Equipment	127	Steck Classic Big Easy GLO with Easy Wedge Kit Item SKG-32955 -No Substitution -	17	Kit	\$59.00	\$1.003.00	\$60.00	\$1,020.00	No Rid	No Bid	\$132.00	\$2,244.00
release shoulder strap - Color ORANGE - Item 080926- 44451-5 - No Substitution - Aerial & Engine Equipment  129 Streamlight Portable Scene Light II 120V AC/12V DC Item STG-46000 Color RED One-Size No Substitution - Aerial & Engine Equipment  130 Streamlight Survivor® Right Angle 147.30 294.60 Light Rechargeable or Alkaline with Steady Charge Charger - Item 90503 No Substitution - Engine Equipment  131 Superval of Light Rechargeable or Alkaline with Steady Charge Charger - Item 90503 No Substitution - Engine Equipment  131 Superval of Light Rechargeable or Alkaline with Steady Charge Charger - Item 90503 No Substitution - Engine Equipment  131 Superval of Light Rechargeable or Alkaline with Steady Charge Charger - Item 90503 No Substitution - Engine Equipment  132 Superval of Light Rechargeable or Alkaline with M18 with Shore Power 20° Super Vac Valor Battery PPVS  Compatible with M18 with Shore Power 20° Super Vac Valor Battery PPVS  (Wheels/Handle Frame) Color BLACK, Blade Size 20° Item V20-BW-SP.XD-No Substitution - Aerial & Engine Equipment  133 The Complete Porta-Vise Kit Which Includes the Porta-Vise Top Cap, Two Pins, vise, and Fasteners For Vise Item PKPVBV No Substitution - Aerial & Engine Equipment  134 Vaughan FS2012 Ball Pein Hammer 12 Oz  135 Vaughan FS2012 and Dennament Engine Equipment  136 Vaughan FS2012 and Dennament Engine Equipment  137 The Complete Porta-Vise Kit Which Includes the Porta-Vise Top Cap, Two Pins, vise, and Fasteners For Vise Item PKPVBV No Substitution - Aerial Equipment Item PKPVBV No Bubble Reflective Collar Model  138 Substitution - Substitution - Aerial Engine Equipment  149 Vaughan FS2012 and Pein Hammer 12 Oz  150 Fore 24° Traffic Comparable - Engine Equipment  151 Substitution - Recomber Engine Equipment  152 Fasch \$16.00 \$115.00 No Bid	128	Aerial & Engine Equipment Streamlight Fire Vulcan LED Vehicle Mount System with 12V DC -Includes quick-		ALIK	\$55.00	ψ1,000.00	φυσ.σο	ψ1,020.00	Did	1.0 Diu	Q.52.00	ψ2,2 TT.00
Streamlight Portable Scene Light   120V AC/12V DC   Item STG-46000 Color RED   34   Each   \$680.00   \$23,120.00   \$536.70   \$18,247.80   \$587.00   \$19,958.00   \$684.00   \$23,256.00		release shoulder strap - Color ORANGE- Item 080926- 44451-5 - No Substitution -	85	Kit	\$200.00	\$17,000.00	\$167.74	\$14,257.90	\$187.00	\$15,895.00	\$231.00	\$19,635.00
One-Size No Substitution- Aerial & Engine Equipment	129	Streamlight Portable Scene Light II 120V AC/12V DC Item STG-46000 Color RED	34	Fach	\$680.00	\$22 120 00	\$526.70	\$18 247 90	\$597 nn	\$10.059.00	\$684.00	\$23,256,00
294.60 Light Rechargeable or Alkaline with Steady Charge Charger - Item 90503 No Substitution - Engine Equipment		One-Size No Substitution- Aerial & Engine Equipment	34	cacn	3080.00	343,140.00	\$330.70	\$10,247.80	00.18دو	\$17,738.00	\$084.00	\$23,230.00
SuperVac 207 PPV 2AH, Battery Charger Power Item SVAC V20-BL-12-AC-SP Compatible with M18 with Shore Power 207 Super Vac V20-BL-12-AC-SP Compatible with M18 with Shore Power 207 Super Vac Valor Battery PPVS (Wheels/Handle Frame) Color BLACK, Blade Size 207 Item V20-BW- SP-XD - No Substitution Aerial & Engine Equipment	130	294.60 Light Rechargeable or Alkaline with Steady Charge Charger - Item 90503 No	85	Kit	\$170.00	\$14,450.00	\$126.84	\$10,781.40	\$141.00	\$11,985.00	\$168.00	\$14,280.00
Compatible with M18 with Shore Power 20" Super Vac Valor Battery PPVS (Wheels/Handle Frame) Color BLACK, Blade Size 20" Item V20-BW-SP-XD-No Substitution Aerial & Engine Equipment     132   Team Equipment Piraya Diamond Blades 14" Cuts-All-Blade - Item TEAM-PIRA-14FD No Substitution - Aerial & Engine Equipment     133   The Complete Porta-Vise Kit Which Includes the Porta-Vise Top Cap, Two Pins, vise, and Fasteners For Vise Item PKPVBV No Substitution - Aerial Engine Equipment Item PKPVBV No Substitution - Aerial Engine Equipment     134   Vaughan FS2012 Ball Pein Hammer 12 Oz	131											
Wheelst Handle Frame) Color BLACK, Blade Size 20* Hem V20-BW-SP-XD-No Substitution Aerial & Engine Equipment     132   Team Equipment Piraya Diamond Blades 14* Cuts-All-Blade - Hem TEAM-PIRA-14FD No Substitution - Aerial & Engine Equipment     133   The Complete Porta-Vise Kit Which Includes the Porta-Vise Top Cap, Two Pins, vise, and Fasteners For Vise Item PKPVBV No Substitution - Aerial Equipment Item     134   Vaughan FS2012 Ball Pein Hammer 12 Oz     135   Vaughan FS2012 Ball Pein Hammer 12 Oz     140   Vaughan FS2012 Ball Pein Hammer 12 Oz     151   Vaughan FS2012 Ball Pein Reflective Collar Model     152   Each     153   Over 24* Traffic Conse with Double Reflective Collar Model     153   Vaughan FS2012 Ball Pein Reflective Collar Model     154   Vaughan FS2012 Ball Pein Reflective Collar Model     155   Vaughan Reflective Collar Model     156   Vaughan Reflective Collar Model     157   Vaughan Reflective Collar Model     158   Vau		Compatible with M18 with Shore Power 20" Super Vac Valor Battery PPVS	22	Kit	\$5,100.00	\$112,200.00	\$5,406.82	\$118,950.04	\$5,520.00	\$121,440.00	\$6,245.00	\$137,390.00
132   Team Equipment Piraya Diamond Blades 14" Cuts-All-Blade - Item TEAM-PIRA-   14FD No Substitution - Aerial & Engine Equipment		Substitution Aerial & Engine Equipment										
133   The Complete Porta-Vise Kit Which Includes the Porta-Vise Top Cap, Two Pins, vise, and Fasteners For Vise Item PRPVBV No Substitution - Aerial Equipment Item PRPVBV No Bid No	132	Team Equipment Piraya Diamond Blades 14" Cuts-All-Blade - Item TEAM-PIRA-	34	Each	\$110.00	\$3,740.00	\$172.06	\$5,850.04	\$180.00	\$6,120.00	\$178.00	\$6,052.00
PKPVBV	133	The Complete Porta-Vise Kit Which Includes the Porta-Vise Top Cap, Two Pins, vise,										
134   Vaughan FS2012 Ball Pein Hammer 12 Oz   12   Each   \$36.00   \$432.00   No Bid   \$15.00   \$180.00   \$15.00   \$180.00   \$15.00   \$180.00   \$15.00   \$1			5	Kit	\$350.00	\$1,750.00	No Bid	No Bid	No Bid	No Bid	\$379.00	\$1,895.00
Item: F52012 - or Comparable - Engine Equipment   135   Vevor 24* Traffic Conses with Double Reflective Collar Model   72   Each   \$16.00   \$1.152.00   Mo Did   No Did   No Did   No Did   \$20.00   \$2.000.00	134	Vaughan FS2012 Ball Pein Hammer 12 Oz	12	Each	\$36.00	\$432.00	No Bid	No Bid	No Bid	No Bid	\$15.00	\$180.00
	135	Vevor 24" Traffic Cones with Double Reflective Collar Model				<b>-</b>						
			72	Eacn	\$10.00	\$1,132.00	No Bid	No Bid	INO BIQ	NO BIG	\$29.00	\$2,088.00

136	Wavian 1.32 Gallon (5 Liter) Jerry Can, Steel (Spout Included) Olve Drab Item 2238-5- Or Comparable - Aerial & Engine Equipment	17	Each	\$90.00	\$1,530.00	No Bid	No Bid	No Bid	No Bid	\$120.00	\$2,404.00
137	Wavian Jerry Can 5 Liter RED Item MISC- 5LRSWJCA or comparable - Aerial & Engine Equipment	17	Each	\$90.00	\$1,530.00	No Bid	No Bid	No Bid	No Bid	\$120.00	\$2,040.00
		Total Amount for Line Items Bid:		\$1,214,142.20		\$901,762.44		\$671,344.00		\$635,956.00	
	Number of Bids Received: 5										
	LSBE Participation Benchmark / GFE: waived per Section 2-206 (f) Separate Sealed Price Schedule:			Y	es		Yes		Yes		Yes
WITNESS	signature: Aleisha Monts										
AGENT S	IGNATURE: Danislle Swearingen										